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Aufgaben-Quickname: 7514

Aufgabe 1
Verdoppele.

a) 37,092 = 74,18 b) 60,08 - 2 = 120,16 ¢) 47,5 -

d) 87,41 -2 = 174,82 ¢) 10,93 - 2 = 21,86

£) 99,83 - 2 = 199,66 ¢) 89,22 = 1784 h) 86,74 -

i) 10,23 - 2 = 20,46 j) 88,42 -2 =176,84
Aufgabe 2

Verdoppele.

a) 24 -2 =48 b) 88 -2 =1 c

d) 30 -2 =60 e) 63 -2 =126 f) 86 -
g) 98 -2 =196 h) 7 i) 6
13-2=6

Aufgabe 3

Verdoppele.

a) 172 =34 b)
) 7-2=14 f1
)13-2 =26 i) 15 -2

Aufgabe 4
Verdoppele.

a) 70,58 - 2 = 141,16 6,47 -2 = 12,94

g) 45,83 -2 = 91,66 h) 76,53 - 2 = 153,06
i) 81,71 -2 = 163,42 j) 89,14 -2 = 178,28

Viel Erfolg!
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2 = 95
2 = 173,48
122 =24
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= 101,48

= 119,36
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